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Instructions : 1) All questions are compulsory.
2) Each question carries 2 marks.
3) Answers should be marked in the given OMR answer sheet by

darkening the appropriate option.
4) Use black ball point pen only for marking the circle. Do not make any

stray mark on the OMR Answer Sheet.
5) Follow the instructions given on OMR Sheet.
6) Rough work shall be done on the sheet provided at the end of question

paper.
7) Only non-programmable calculators are allowed.

1) Which of the following is part as Research method?
A) Problem B) Experiment
C) Research Techniques D) Research methodology
Imbrbn¡H$s H$moUVm g§emoYZ nX²YVrMm ^mJ Amho?
A) g‘ñ¶m B) à¶moJ
C) g§emoYZ V§Ì D) g§emoYZ nX²YVr

2) Which one of the following is not a characteristic of scientific method?
A) Deterministic B) Rationalism
C) Empirical D) Abstraction
Imbrbn¡H$s H$moUVo d¡km{ZH$ nX²YVrMo d¡{eï²>¶ Zmhr?
A) {ZYm©aH$ B) ~wÜXrdmX
C) AZŵ dOÝ¶ D) A‘yV©Vm

3) Who is founder of positivism methodology?
A) August Comte B) Emil Durkhem
C) Karl Marx D) Max Weber
àË¶jdmX nÕVrMm g§ñWmnH$ H$moU Amho?
A) Am°JñQ> H$m°åQ>o B) E{‘b S>H©$ho‘
C) H$mb© ‘m³g© D) ‘°³g do~a
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4) What is an aim of the fundamental research?
A) Action Research B) Survey
C) Pilot Survey D) Pure research
‘yb ŷV g§emoYZmMo Ü¶o¶ H$m¶ Amho?
A) H¥$Vr g§emoYZ B) gd}jU
C) nm¶bQ> gd}jU D) ewX²Y g§emoYZ

5) Which is not a type of questions on the basis of measuring response?
A) Nominal B) Ordinal
C) Interval D) Internal
à{VgmX ‘moOÊ¶mÀ¶m AmYmamda Imbrbn¡H$s H$moUË¶m àH$maMm àíZ g‘m{dð> Zmhr?
A) Zm‘‘mÌ B) gm‘mÝ¶
C) ‘Ü¶m§Va D) A§VJ©V

6) In which type of research design expert survey is undertaken?
A) Experimental B) Exploratory
C) Explantory D) Diagnostic
H$moUË¶m àH$maÀ¶m g§emoYZ AmamIS²>¶m‘Ü¶o VÁkmg gd}jU H$aVm ¶oVo.
A) àm¶mo{JH$ B) emoYH$
C) ñnï>rH$aUmË‘H$ D) {ZXmZ

7) What is meaning of Survey?
A) Descriptive B) Fact finding
C) Analytical D) Systematic
gd}jUmMm AW© H$m¶ Amho?
A) dU©ZmË‘H$ B) VÏ¶ emoYUo
C) {díbofUmË‘H$ D) nX²YVera

8) Which of the following is not type of research?
A) Explanatory B) Descriptive
C) Exploratory D) Purposive
Imbrbn¡H$s H$moUVm g§emoYZmMm àH$ma Zmhr?
A) {díbofUmË‘H$ B) dU©ZmË‘H$
C) g§emoYZ Cn¶wº$ D) ghoVyH$
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9) Which of the following is not source of primary data collection?
A) Questionnaire B) Observation
C) Interview  Schedule D) Review of literature
Imbrbn¡H$s H$moUVm àmW{‘H$ VÏ¶ {‘i{dÊ¶mMm ñÌmoV Zmhr?
A) àýmdbr B) {Z[ajU
C) ‘wbmIV AZwgyMr D) gm{hË¶mMm AmT>mdm

10) Blue print or Research work is called
A) Research Problem B) Research design
C) Research tools D) Research methods
g§emoYZ H$m¶m©Mr ãby qàQ> H$emg åhUVmV?
A) g§emoYZ g‘ñ¶m B) g§emoYZ AmamIS>m
C) g§emoYZ gmYZo D) g§emoYZ nX²YVr

11) Which of the following is not related to analysis?
A) Thematic Analysis B) Discourse Analysis
C) Content Analysis D) Finding Analysis
Imbrbn¡H$s H$moUVo {díbofUmg§~§Yr Zmhr.
A) {df¶mÀ¶m AZwf§JmZo {díbofU B) MMm©Ë‘H$ {díbofU
C) KQ>H$ {díbofU D) {díbofU emoYUo

12) Which term has been used by Burges for case study method?
A) Social microscopic B) Social macroscopic
C) Social microscope D) Social macroscope
~J}gZo ì¶ï>r AÜ¶¶Z nX²YVrgmR>r H$moUVm eãX dmnabm Amho?
A) gmoeb ‘m¶H«$moñH$mo{nH$ B) gmoeb ‘°H«$moñH$mo{nH$
C) gmoeb ‘m¶H«$moñH$mon D) gmoeb ‘°H«$moñH$mon

13) What is full from of SPSS?
A) Statistical Package of Social Science
B) Statistical Processor of social Science
C) Standard Package of Social  Survey
D) Standard Package of Social Science
SPSS Mo nyU© ê$n H$m¶ Amho?
A) gm‘m{OH$ {dkmZmMo gm§p»¶H$s¶ n°Ho$O B) gm‘m{OH$ {dkmZmMm gm§p»¶H$s¶ àmogoga
C) gm‘m{OH$ gd}jUmMo ‘mZH$ n°Ho$O D) gm‘m{OH$ {dkmZmMo ‘mZH$ n°Ho$O
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14) Which one of the following is not a type of non-probability sampling?
A) Quota B) Volunteer
C) Cluster D) Snowball
Imbrbn¡H$s H$moUVm J¡a-g§̂ mì¶Vm Z‘wZm àH$ma Zmhr?
A) H$moQ>m B) EoÀN>rH$
C) ³bñQ>a D) ñZmo-~m°b

15) A representative sample is related to.
A) Survey method B) Psychoanalytic method
C) Natural experiment or case study D) Clinical method
à{V{Z{YH$ Z‘wZm hm H$emer g§~§YrV Amho
A) gd}jU nX²YV B) ‘Zmo{díbofU nX²YV
C) Z¡g{J©H$ à¶moJ qH$dm ì¶ï>r AÜ¶¶Z D) p³b{ZH$b nX²YV

16) Which of the following used for Random Sample when the population is very
large?
A) Calculator B) Telescope
C) Computer D) Typewriter
bmoH$g§»¶m Iyn ‘moR>r AgVmZm ¶mÔ{ÀN>H$ Z‘wÝ¶mgmR>r Imbrbn¡H$s H$m¶ dmnabo OmVo?
A) JUH$¶§Ì B) Xþþ{~©U
C) g§JUH$ D) Q>§H$boIH$

17) "Science begins with observation and ends with observation" this statement
is made by:
A) P.V. Young B) Goode and Hatt
C) Dooley David D) Moser and Kalton
""{dkmZ {ZarjUmnmgyZ gwê$ hmoVo Am{U {ZarjUmZo g§nVo'' ho {dYmZ Imbrbn¡H$s H$moUr Ho$bo Amho?
A) nr. ìhr. ¶§J B) JwS> Am{U h°Q>
C) Sy>br S>opìhS> D) ‘moPa Am{U H°$b²Q>Z

18) Which is the main objective of research?
A) To review the literature
B) To get an academic degree
C) To summarize what is already known
D) To discover new facts or to make fresh interpretation of known facts
g§emoYZmMo ‘w»¶ CX²{Xï> H$moUVo?
A) gm{hË¶mMm AmT>mdm KoUo
B) e¡j{UH$ nXdr {‘idÊ¶mgmR>r
C) AmYrM ‘m{hV Agboë¶m Jmoï>tMm gmam§e XoUo
D) ZdrZ VÏ¶o emoYÊ¶mgmR>r qH$dm kmV VÏ¶m§Mm ZdrZ AW© bmdUo
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19) Which of the first step of research?
A) Finding a problem B) Selecting a problem
C) Searching a problem D) Identifying a problem

g§emoYZmMr n{hbr nm¶ar H$moUVr Amho?
A) g‘ñ¶m emoYUo B) g‘ñ¶m {ZdS>Uo
C) g‘ñ¶m emoYUo D) g‘ñ¶m AmoiIUo

20) Which of the following are not type of variables?
A) Dependent and independent B) Experimental and measured
C) Qualitative and Quantitative D) Participant and Non-participant

Imbrbn¡H$s H$moUVo MbmMo àH$ma ZmhrV?
A) Adb§{~V Am{U ñdV§Ì B) àm¶mo{JH$ Am{U ‘moObobo
C) JwUmË‘H$ Am{U n[a‘mUmË‘H$ D) gh^mJr Am{U J¡a-gh^mJr

21) Which of the following is a non-probability sample?
A) Quota sample B) Simple random sample
C) Purposive sample D) (A) and (C) both
Imbrbn¡H$s H$moUVm g§̂ mì¶Vm Zgbobm Z‘wZm Amho?
A) H$moQ>m Z‘wZm B) gmYo ¶mÔpÀN>H$ Z‘wZm
C) CX²XoenyU© Z‘wZm D) (A) Am{U (C) XmoÝhr

22) Which of the following an axis is related to the value of independent variable
scaled in the graph?
A) X B) Y
C) Z D) None of these
Imbrbn¡H$s H$moUVo Mb J«m’$‘Ü¶o ‘mnZ Ho$boë¶m ñdV§Ì MbmÀ¶m ‘yë¶mer g§~§{YV Amho?
A) X B) Y
C) Z D) ¶mn¡H$s Zmhr

23) Which one of the following is not a type of non-probability sampling?
A) Quota B) Volunteer
C) Cluster D) Snowball
Imbrbn¡H$s H$moUVm J¡a-g§̂ mì¶Vm Z‘wZm àH$ma Zmhr?
A) H$moQ>m B) EoÀN>rH$
C) ³bñQ>a D) ñZmo~m°b
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24) Generalized conclusion on the basis of a sample is technically known as
A) Statistical inference of external validity of the research
B) Data analysis and interpretation
C) Parameter inference
D) All of the above
Z‘wÝ¶mÀ¶m AmYmamda gm‘mÝ¶rH¥$V {ZîH$f© Vm§{ÌH$Ñï²>¶m åhUyZ AmoiIbm OmVmo
A) g§emoYZmÀ¶m ~mø d¡YVoMo gm§p»¶H$r¶ AZw‘mZ B) S>oQ>m {díbofU Am{U ì¶m»¶m
C) ‘mnX§S> AZw‘mZ D) darb gd©

25) Which of the following is not citation style?
A) Turabian B) MLA
C) APA D) MPA
Imbrbn¡H$s H$moUVr g§X ©̂ e¡br Zmhr?
A) Vwam{~¶Z B) MLA
C) APA D) MPA

26) Indology is known as the science of _________
A) Modern Society B) Western Society
C) Traditional Society D) Indian Society
B§S>m°bm°Or ho ........... Mo {dkmZ åhUyZ AmoiIbo OmVo.
A) AmYw{ZH$ g‘mO B) nmíM‘mË¶ g‘mO
C) nma§nm[aH$ g‘mO D) ^maVr¶ g‘mO$$

27) Who written the Book 'Modernization and Development: A Search for
Alternative paradigm'?
A) Yogendra Singh B) Y. B. Damle
C) S. C. Dube D) D. P. Mukhrji
'Modernization and Development: A Search for Alternative Paradigm' ho nwñVH$
H$moUr {b{hbo?
A) ¶moJ|Ð qgh B) dm¶. ~r. Xm‘bo
C) Eg. gr. Xþ~o D) S>r. nr. ‘wIOu

28) Who is author of the Book 'Caste in Modern India and other essays'?
A) M. N. Srinivas B) B. R. Ambedkar
C) D. N. Dhangare D) Surjit Sinha
'Caste in Modern India and other essays' ¶m nwñVH$mMo boIH$ H$moU AmhoV?
A) E‘. EZ. lr{Zdmg B) ~r. Ama. Am§~oS>H$a
C) S>r. EZ. YZmJao D) gwa{OV {gÝhm
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29) Who wrote the Book titled 'Homo Hierarchicus: The caste system and Its
Implications'?
A) Max Weber B) Louis Dumout
C) D. P. Mukhrji D) Karl Marx
'Homo Hierarchicus: The caste system and Its Implications' ho nwñVH$ H$moUr {b{hbo?
A) ‘°³g do~a B) bwB© S>‘AmCQ>
C) S>r. nr. ‘wIOu D) H$mb© ‘m³g©

30) Siddharth Gautama was the founder of ________
A) Hinduism B) Buddhism
C) Jainism D) Islam
[gÕmW© Jm¡V‘ ho ........ g§ñWmnH$ hmoVo.
A) qhXÿ Y‘© B) ~m¡Õ Y‘©
C) O¡Z Y‘© D) Bñbm‘

31) Who of the following argued that tribes are backward Hindus?
A) Verrier Elwin B) G. S. Ghurye
C) N. K. Bose D) All of the above
Imbrbn¡H$s H$moUr åhQ>bo Amho H$s Am{Xdmgr ‘mJmgbobo {h§Xÿ AmhoV?
A) ìho[a¶a EpëdZ B) Or. Eg. Kw¶}
C) EZ. Ho$. ~mog D) darb gd©

32) The philosophy of Karma is associated with which religion.
A) Hindu B) Islam
C) Jain D) Sikh
H$‘© VËdkmZ H$moUË¶m Y‘m©er g§~§{YV Amho?
A) qhXÿ B) Bñbm‘
C) O¡Z D) erI

33) Moksh is the last goal of _______religion?
A) Islam B) Hindu
C) Buddh D) Sikh
‘moj ho ......... Y‘m©Mo A§{V‘ bú¶ Amho.
A) Bñbm‘ B) qhXÿ
C) ~m¡Õ D) erI
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34) The Social thoughts originated from_______?
A) Personal Problem B) Problems of Relatives
C) Social Problems D) None of the above

gm‘m{OH$ {dMmam§Mr CËnÎmr ............ ‘YyZ Pmbr.
A) d¡¶{º$H$ g‘ñ¶m B) ZmVodmB©H$m§À¶m g‘ñ¶m
C) gm‘m{OH$ g‘ñ¶m D) darb H$mhrhr Zmhr

35) To, Karl Marx_______in contradictions did not exist.
A) Communism B) Capitalism
C) Feudalism D) Casteism

H$mb© ‘m³g©À¶m ‘Vo,........... ‘Ü¶o Û§ÛmË‘H$ pñWVr AmT>iV Zmhr.
A) gmå¶dmX B) ^m§S>dbdmX
C) g§aOm‘ dmX D) OmVrdmX

36) For Weber,________means, to understand meaning of human act.
A) Positivism B) Verstenhen
C) Data-analysis D) Data Collection

do~a ¶m§À¶m ‘Vo ‘mZdr H¥$Vr g‘OyZ KoUo åhUOo ..............
A) {dkmZ dmX B) ìhgQ>oZ nÜXVr
C) VÏ¶ {díbofU D) VÏ¶ g§H$bZ

37) Who said, "Mind is a process and not a thing?
A) Weber B) Durkheim
C) Pareto D) Mead

""‘Z hr à{H«$¶m AgyZ dñVw Zmhr'' Ago H$moU åhQ>bo?
A) do~a B) S>H©$ho‘
C) n°aoQ>mo D) ‘rS>

38) Who said defined Sociology as a logic experimental science?
A) Weber B) Durkheim
C) Pareto D) Cooley

g‘mOemó hm àm¶moJrH$ Vm{H©$H$ g‘mOemó Amho H$moUr åhQ>bo Amho?
A) do~a B) S>H©$ho‘
C) n°aoQ>mo D) Hy$br
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39) George Herber Mead's work was influenced by which of the following two
approaches?
A) Positivism and pragmatism B) Behaviorism and pragmatism
C) Positivism and behaviorism D) Behaviorism and biology
Om°O© h~©a ‘rS> ¶m§Mo H$m‘ Imbrbn¡H$s H$moUË¶m XmoZ Ñï>rH$moZmVyZ à^m{dV Pmbo?
A) dñVw{Zð>dmX d àm‘mÊ¶dmX ([dkmZdmX) B) dV©ZwH$dmX d àm‘mÊ¶dmX ({dkmZdmX)
C) dñVw{Zð>dmX d dV©ZwH$dmX D) dV©ZwH$dmX d Ordemó

40) For Cooley' the feeling of 'we' found_____group.
A) Secondary B) Religious
C) Primary D) Elite
Hy$boÀ¶m ‘Vo, ""Amåhr'' ñdê$nmMr ^mdZm ........... g‘yhmV AmT>iVo?
A) Xþæ¶‘ B) Ym{‘©H$
C) àmW{‘H$ D) loîR>rOZ

41) Who wrote book 'Human Nature and Social Order'?
A) Max Weber B) C. H. Cooley
C) Karl Marx D) G. H. Mead
""hçw‘Z ZoMa A°ÊS> gmoeb Am°S>©a'' ¶m J«§WmMo boIH$ H$moU AmhoV?
A) ‘°³g do~a B) gr. EM. Hy$br
C) H$mb© ‘m³g© D) Or. EM. ‘rS>

42) Which term is used to denote, 'Common Subjective world among pluralities
of interacting individuals.
A) Consciousness B) Subjectivism
C) Interactionism D) Intersubjectivity
ZoH$ Am§Va{H«$¶m H$arV AgUmè¶m ì¶qº$Zm g‘mZ AgUmao dñVw{Zð>OJ ¶m H$arVm H$moUVr g§H$ënZm
dmnabr OmVo?
A) OmUrd B) ì¶{º$dmX
C) Am§Va{H«$¶mdmX D) Am§Vaì¶{º$JVVm

43) Name two concepts that Erving Goffman has used in his theory of Dramaturgy?
A) Front and Back B) I and me
C) Id and Ego D) None of the above
EaqdJ Jm°’$‘Z ¶m§Zr Ë¶m§À¶m ZmQ>çH$bm emómÀ¶m {gX²Ym§VmV gm§{JVboë¶m XmoZ g§H$ënZm§Mr Zmdo gm§Jm.
A) nwT>Mo Am{U ‘mJMo B) ñd Am{U ‘r
C) BS> Am{U BJmo D) darbn¡H$s H$moUVohr Zmhr
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44) Who has given basic conceptual core of Ethnomethodology?
A) Alfred Schutz B) Harold Garfinkel
C) Louise Althusser D) Bourdieu
bmoH$mÝd¶ nX²YVremómMm ‘yb ŷV g¡XYm§{VH$ Jm^m H$moUr g§m{JVbm Amho?
A) Amb²’«o$S> ewQ²>P B) h°amob²S> Jmaq’$Ho$b
C) bwB©g Ab²Wwga D) ~moS>u¶y

45) Who among the following is not a neo-functionalist?
A) Jeffery Alexander B) Talcott Parsons
C) F. D. Saussure D) Niklas Luhmman
Imbrbn¡H$s H$moU Zd-àH$m¶©dmXr Zmhr?
A) Oo’$ar Abo³Pm§S>a B) Q>°bH$m°Q> nmg©Ýg
C) E’$. S>r. gm°gwa D) {ZH$bmg bwh‘Z

46) Which of the following concepts is not given by Derrida?
A) Cultural Capital B) Logocentrism
C) Deconstruction D) Difference
Imbrbn¡H$s H$moUVr g§H$ënZm S>o[aXm ¶m§Zr {Xbobr Zmhr?
A) gm§ñH¥${VH$ ^m§S>db B) bmoJmog|{Q́>P‘
C) {dI²§S>Z D) ’$aH$

47) A married woman putting on bindi and Mangalsutra', is the example of which
type of sign?
A) The Arbitrary sign B) The Index Sign
C) The Icon Sign D) The Symbol Sign
H$nmimda {~§Xr Am{U ‘§JigwÌ KmbUmar {ddm{hV ór ho H$moUË¶m {MÝhmMo CXmhaU Amho?
A) ñdN>§Xr{MÝh B) gwMr{MÝh
C) Am¶H$m°Z{MÝh D) àVrH${MÝh

48) According to Levi-Strauss_________is a historical development of language,
a study of linguistic change.
A) Kinship B) Phonemic Systems
C) Diachrony D) Synchrony
bopìh-ñQ́>mg ¶m§À¶m ‘Vo ......... åhUOo ̂ mfoMm Eo{Vhm{gH$ {dH$mg hmo¶ (^mfoVrb ~XbmMm Aä¶mg hmo¶)
A) Amág§~§Y B) ’o$Zo{‘H$ ì¶dñWm
C) S>m¶H«$moZr D) {gÝH«$moZr



M/P ENT - 23

-11-

49) The Organization, 'The institute of Social Research', was founded in Frankfurt,
Germany is associated with______.
A) Neo-Functionalism B) Critical Theory
C) Post Structuralism D) Ethnomethodology
O‘©Zr ¶oWrb ’«§$H$’$Q>© ¶m {R>H$mUr ñWmnZ Pmbobr "{X BpÝgQ>çyQ> Am°’$ gmoeb [agM©' hr g§ñWm ........
g§~§{YV Amho?
A) Zd-àH$m¶©dmX B) {M{H$ËgH$ {gX²Ym§V
C) CÎma g§aMZmdmX D) bmoH$mÝd¶nX²YVremó

50) According to Habermas, 'Culturally transmitted and linguistically organised
stock of interpretative patterns means________.
A) Public Sphere B) Intersubjectivity
C) Communicative Action D) Life World
h°~a‘mg ¶m§À¶m ‘Vo g§ñH¥$VrX²dmam g§H«${‘V Pmbobm Am{U ^mfoX²dmam g§K{Q>V Pmbobm AÝd¶mWm©Ë‘H$
à~§YmMm gmR>m åhUOo .............
A) gmd©O{ZH$ joÌ B) Am§Vaì¶{º$JVVm
C) g§dmXmË‘H$ {H«$¶m D) OrdZOJ


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